
BCM SCHOOL BASANT AVENUE DUGRI ROAD LUDHIANA 

GRADE-6 

SOCIAL SCIENCE (087) 

REVISION ASSIGNMENT 

SECTION A 

Q1. Listed below are different aspects of Indian society. Which one best reflects the idea of “Unity in 

Diversity”? 

A) Only one language spoken across the country 

B) Different religions, languages, and cultures living together 

C) Same food habits followed everywhere 

D) A single festival celebrated by all states 

     Answer: B) Different religions, languages, and cultures living together 

Q2. Match the following types of families/communities with their correct features: 

Column A (Type) Column B (Feature) 

1. Nuclear family (a) Large family including grandparents, uncles, aunts, cousins 

2. Joint family (b) Community where people share festivals and traditions 

3. Urban 

community 
(c) Small family with parents and children only 

4. Rural community 
(d) Community with more population density and modern 

facilities 

Options: 
(A) 1–c, 2–a, 3–d, 4–b 
(B) 1–a, 2–c, 3–b, 4–d 

(C) 1–d, 2–b, 3–a, 4–c 
(D) 1–b, 2–d, 3–c, 4–a 

     Answer: (A) 1–c, 2–a, 3–d, 4–b 

Assertion- Reason 

Q3. Assertion (A): All types of work, whether paid or unpaid, have importance in our lives. 
Reason (R): Only economic activities contribute to society, while non-economic activities have no 

value. 

Options: 
(A) Both A and R are true, and R is the correct explanation of A. 
(B) Both A and R are true, but R is not the correct explanation of A. 

(C) A is true, but R is false. 
(D) A is false, but R is true. 

     Answer: (C) A is true, but R is false. 

 



SECTION B      

Very Short Questions 

Q4. India is a vast country with regions of snow, deserts, heavy rains, and plains. How do you think 

people’s clothing changes depending on where they live? 

     Answer: People’s clothing changes with climate. They wear woolens in cold areas, cotton in hot 

regions, and raincoats in rainy places. 

Q5. "Some people believe that planting trees only on special occasions does not make a big 
difference." Do you agree or not? Give one reason. 

     Answer: Yes, because trees need regular care. /No, because planting is still important to 

increase greenery. 

SECTION C      

Short Answer Based Questions 

Q6. "With the growth of mobile phones, computers, and the internet, technology has become an 
important part of our daily lives." What is the role of technology in modern families and communities? 

     Answer: Technology has both positive and negative effects on modern families and communities 

as: 

1. It helps us to stay connected with each other through social media and messaging apps. 
2. It provides access to information and education. 

3. It can also create distractions and reduce face-to-face interactions. 

Q7. “The continents cover most of the land on Earth, but there are also smaller landmasses 
completely surrounded by water.” What are such landmasses called? Does India have any of them? 
Discuss. 

     Answer: The smaller pieces of land that are left out of the continents are surrounded by water 

from all sides are known as islands. 
India has more than 1,300 small islands. Those islands are part of two major groups—Andaman and 

Nicobar Islands in the Bay of Bengal and Lakshadweep Islands in the Arabian Sea. 

SECTION D      

Long Answer Based Questions 

Q8. India produced the finest cotton in the world for a very long time. This led to the export of Indian 

textiles as far away as Europe. How did Indian textiles impact 17th - century Europe?  

     Answer: Indian textiles impacted 17th -century Europe in the following ways:  

1. Indian cotton textiles, especially ‘chintz,’ were very popular in Europe.  

2. People in Europe loved the colorful and printed fabrics from India.  



3. This hurt the local textile industries in England and France.  

4. So, they banned the import of Indian chintz to protect their own cloth makers.  

5. It showed how famous and important Indian textiles were in the world. 

 

SECTION E             

Source Based Questions 

Q9. Read the source given below and answer the following questions. 

Ramesh lives in a small village. Every morning he helps his parents in farming before going to school. 
On weekends, he joins the community in cleaning the village pond. Recently, the Gram Pan chayat 
started a literacy campaign where Ramesh also helps the elders to learn reading. 

A. Which types of activities are performed by Ramesh? Why? 

     Ans. Non-economic, because he works without wages for family and community. 

B. How is Ramesh applying the value of dignity of labour in his life? 

     Ans. He respects all kinds of work and does them willingly. 

C. Suggest two ways the community can support Ramesh in his contribution. 

     Ans.1. The community can encourage and motivate him through recognition or appreciation. 

2. They can provide resources such as books, teaching materials, or tools to make his efforts more 
effective. 

SECTION F            

Map-Skill Based Questions 

Q10. Locate the following on the map: 

(A) Political Map of India 

1. Any two landlocked states 

2. Any two Northern states 
3. The Seven Sisters (any two states) 

(B) World Map 

1. The Oceans and Continents 

2. The Prime Meridian and Important Latitudes (Equator, Tropic of Cancer, Arctic Circle) 

 

 


